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QUESTION 1

Refer to the exhibits. 

Exhibit 1 

Exhibit 2 

PC1 cannot reach PC2. Based on the exhibits, what could be causing this error? 

A. PC1 has the wrong IP address for its default gateway setting. 

B. Router A has a direct route, instead of a static route, to 10.1.10.0/24. 

C. The next hop address for the 10.1.20.0/24 route is incorrect. 

D. Router A has an invalid subnet mask for the VLAN 1 subnet. 

Correct Answer: B 

 

QUESTION 2

Refer to the exhibit. 
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Switch-1 is an HP ProVision switch. 

A network administrator wants Switch-1 to run Open Shortest Path First (OSPF) and create neighbor relationship on
Links 1 and 2. What should the administrator do to accomplish this? 

A. Access the VLAN context for the VLANs assigned to Links 1 and 2, and enable OSPF. 

B. Access the global configuration context, and create OSPF routes to 10.0.1.0/24 and 10.0.2.0/24. 

C. Access the physical interface context for the Link 1 and 2 ports, and enable OSPF. 

D. Access the OSPF area 0 context and specify the networks on Links 1 and 2 (10.0.1.0 0.0.0.255 and 10.0.2.0
0.0.0.255). 

Correct Answer: B 

 

QUESTION 3

Which statement is true about the default configuration on an HP ProVision switch? 

A. Spanning tree is disabled. 

B. LACP is used when a BAGG interface is created. 

C. IRF is enabled. 

D. RSTP is the default spanning tree mode. 

Correct Answer: A 

 

QUESTION 4

Which ProVision configuration includes 10.0.3.0/24, which represents VLAN 30 in OSPF area 0? 
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A. vlan 30 ip ospf area 0 

B. vlan 30 area 0 

C. interface vlan 30 ip ospf area 0 

D. router ospf area 0 vlan 30 

Correct Answer: A 

 

QUESTION 5

A company wants a modular switch for the access layer at its main campus and for several branch offices. Which HP
Switch Series is best suited for this role? 

A. HP 11900 

B. HP 12900 

C. HP 5900 

D. HP 5400R 

Correct Answer: C 
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